

Conversions Celsius-Fahrenheit (B)

Estimez ou précisez les conversions de température demandées.

$$-10 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-41 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$87 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$13 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$12 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-28 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$89 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-61 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-62 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-46 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$10 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-86 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-90 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$98 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-22 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-21 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-81 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$56 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-41 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-30 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-35 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-34 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$70 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$27 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$24 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$89 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$0 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-68 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-56 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-14 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$